BEIPBESF P I Pd T AR - DBRBETRRFI U0 ES 25T RERS E&
ERIBEER

iéﬁﬁiiﬂﬁwéﬁiﬁ%?~v%?%@~ﬁﬁ¢?‘iﬁﬁﬁ~

LML FEKE NGRS S A TR R B 1 FLE A
#

RIS A N PHRECL AR E 5 & 2 ow TP 2 JRIK ik C~F
B0 3 R —,;;,erhw‘.(szyi ; 12 & (30 mm) ""ﬁ}ﬂxﬁr,ﬁﬁ' |

AT LT F ST R FAU 110 # 4% 13~14 p ~20~23 p ~4 7 1~30
p(%A)~5" 13~19p ~57% 1~31 p (5 A)~6 " 7~10~15~16 p ~6 * 1~30
PEA)ER - 25 ST RITER & 45 PMy ~ PMys ~ TSP ~ SOx ~ NOy ~ CO -
Oz b w ~hid ~BR CAPHEBRE A A 4445 % A8 % a 2 NMHC
FoRHEAFTEREY S BHRE)DCBBR)E BHREY 4 P PMys
SRMIEEFEETRLIX > BT RIBPAEFEE T TR 1A i 24 )
pre AFr Oghot 8 | PFT35iE 4 7 > g G®|(0.068 ppm) 2 kR
(0.062ppm) ik % > H4ARZ BIFE P 328 & 3 § & #%25(0.0060 ppm) o +* % Oz +
8 /| PF T 3B ALY B ARIT (T T PRIk R RIsE (R AL S ] B~ A R 2 HRF)Z E R
BE L T %r‘gﬁ—ﬂj cd WAFIFHC R ¥ EERE @B TR
Rl s WREEZ FREF )T ZEERATT LR ?I‘&ﬁ%’ » 4 " 82 VOC %
T AR S (TR
AEF - AFIEFREIHRFFLIERE) BPIX A FREENER R 2
PR ~skitF szl 3R @ Ozt 8 BHLTI0ET g 77 ERIS*F
%1% R 2~ 11-



E&

35 3

Bor: Y eRd 2 1 kRl F R AT G

Bl 1 HFRETPR-ETIE
]



BE BRI E - Ad A ERF-DRBETRREU0EF 25T REES &
21 ERHZFETERSEREL
Rl A AP ERB s LR bR bR X
< 5T P 110.04.13~14 |110.05.15~16|110.06.15~16|110.04.22~23|110.05.13~14 | 110.06.07~08 | 110.04.20~21 | 110.05.18~19 | 110.06.09~10 | 110.04.21~22 | 110.05.17~18 | 110.06.08~09 ;;‘f;
TSP
3 24 /) pEiE 90 24 196 144 108 36 109 30 47 156 30 52 —
(ng/m’)
PM103 pIisE 62 14 89 58 28 23 53 16 29 59 15 23 100
(pg/m)
PMZ@ 24 ) pEiE 30 — — 32 — — 21 — — 30 — — 35
(pg/m’)
SO, Bt IS 0.005 0.001 0.001 0.007 0.001 0.009 0.005 0.001 0.022 0.006 0.001 0.036 0.075
(ppm) pLiaE 0.003 0.001 0.001 0.003 0.001 0.002 0.002 0.001 0.004 0.003 0.001 0.007 —
NO, Bk T IEE 0.033 0.001 0.007 0.030 0.007 0.022 0.021 0.004 0.031 0.044 0.009 0.035 0.1
(ppm) pTiaE 0.016 <0.001 0.003 0.017 0.003 0.013 0.010 0.001 0.015 0.023 0.003 0.013 —
NO Bt T IEE 0.018 <0.001 0.005 0.005 0.010 0.027 0.006 0.008 0.014 0.017 0.010 0.017 —
(ppm) pTiaE 0.003 <0.001 0.001 0.002 0.003 0.005 0.001 0.003 0.006 0.005 0.003 0.006 -
Cco Bt I IEE 0.57 0.33 0.10 0.69 0.84 0.99 0.48 0.44 0.91 0.62 0.47 1.94 35
(ppm) Bt 8 pELIEE 0.43 0.31 0.09 0.56 0.47 0.43 0.31 0.38 0.54 0.38 0.41 1.09 9
0O, Bk I IEE 0.087 0.046 0.050 0.069 0.042 0.041 0.082 0.044 0.036 0.070 0.051 0.051 0.12
(ppm) Ht 8 EIEaE 0.052 0.040 0.048 0.057 0.037 0.033 0.068 0.039 0.025 0.062 0.046 0.029 0.06
’\(l:)\:l):;: pLiog 0.45 0.04 0.05 0.32 0.07 0.28 0.15 0.07 0.19 0.31 0.06 0.09 —
& (ng/m’) 24 ) pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
A (ug/m?) 24 /) pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
7 (ug/m®) 24 ) pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
£ (ug/m®) 24 | pFiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
4 (ug/m®) 24 ) pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
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AFHFPORFER 110 £ 57 25 pief7  ERI-BLERMIE ¥

AB)2 A KB E FF
COD~SS~3Rg ~#BP R ~
2 C

2,

4 (C)%

S A

’f‘H’\\ NP R NN -~ BT N S 2 \) N Eﬂ'ﬁ.‘ri;,, g;ﬁd fj“ ﬁ s g s AN
B(As~Cd~Cr-Hg~Cu-~Ni~Pb~2Zn) £ S > 2 55— % - & %
LRl E AR ¢ KR R 2 RRIEIOE &0 i BORHOKFIRE o £
“%A 6o
%6 LRlASKTERESREA
e L
7P MDL | A A A B: B. B C. C: Co | lkum
(.%i i i
pH - 8.1 8.2 8.2 8.3 8.2 8.3 8.2 8.2 8.2 |7.5~85
KE(C) - 31.3 31.1 30.9 315 31.3 31.2 31.9 31.7 31.6 —
% ¥ (mg/L) - 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.4 6.4 | >5.0
3 F 8 (mg/L) 1.0 3.3 2.7 2.5 1.8 24 1.9 2.1 1.9 1.3 —
& (psu) - 32.1 32.0 32.2 32.8 32.9 32.9 33.0 32.9 32.9 —
&P R (m) - 2.0 - - 1.7 - - 15 - - —
4 2% £(mg/lL)| 1.0 | <10 | <10 | <1.0 | <1.0 | <1.0 | <1.0 | <10 | <10 | <1.0 | <30
it®2% £(mg/lL)] 15 5.9 6.1 6.1 6.0 6.3 5.8 6.0 5.8 6.1 —
S (mg/L) 0.002 | 0.021 | 0.019 | 0.024 | 0.021 | 0.017 | 0.019 | 0.022 0.028 | 0.025 —
&% (mg/L) 0.10 | 048 | 051 | 0.69 | 0.44 | 050 | 0.60 | 0.63 0.76 | 0.57 —
% % (mg/L) 0.02 0.03 0.05 0.05 0.03 0.03 0.04 0.03 0.02 0.03 —
B ¥ § (mg/L) | 0.09 | <0.50 | <0.50 | 0.67 | <0.50 | <0.50 | 0.58 0.61 0.74 0.55 —
A F (mg/L) | 0.01 0.02 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 —
AMp@(mg/L) | 007 | 009 | 012 | 0.07 | 0.07 | 0.07 | 0.09 | 0.09 0.08 | 0.09 —
LA % % (mg/L)] 0.002 | ND. [ ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. —
LA B(mg/L) | 0005 | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. —
# "5 (mg/L) 1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 2
% s (mg/L) 0.0009 | N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. | 0.01
<k -
(CFU/100mL) <10 45 20 25 90 65 65 25 45 <10
F (mg/L) 0.0003 |<0.0020|<0.0020{<0.0020{<0.0020|<0.0020{<0.0020| <0.0020 | <0.0020|<0.0020| 0.05
45 (mg/L) 0.0002| N.D N.D. N.D. N.D N.D N.D N.D N.D N.D | 0.005
£ (mg/L) 0.0050 |<0.0050(<0.0050{<0.0050|<0.0050{<0.0050|<0.0050{ <0.0050 |<0.0050|<0.0050| 0.05
& (mg/L) 0.00015|<0.0010/<0.0010{<0.0010| N.D. N.D. N.D. N.D. N.D. N.D. | 0.001
4% (mg/L) 0.0005 {0.00015|0.00009{0.00014|0.00012|0.00012|0.00010{ 0.00015 |0.00015|0.00013| 0.03
44 (mg/L) 0.0005 {0.00018|0.00022{0.00017|0.00013|0.00013|0.00010{ 0.00015 |0.00017|0.00016| —
& (mg/L) 0.0004| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. | 0.01
£ (mg/L) 0.0016 |0.00144|0.00133/0.00118|0.00180/0.00138|0.00091| 0.00132 | 0.00138|0.00144| 0.5
LE§
(Img/L) 0.00003| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
Z 5
(mg/L) 0.00003| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
4 “?'}E"‘\ 0.00004) N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
| maL)
B (m;g]IS 0.00005| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
'E?%}B 0.00025|<0.00025|<0.00025|<0.00025|<0.00025|<0.00025|<0.00025| <0.00025 |<0.00025|<0.00025| 0.1
-
(mg/L) 0.00004| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
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